Assignment #3 (35 pts)



Name ____________________________
_________________________________                                         
___________________________
__________________________________
1.  (5 pts) For the general vector field 
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2.  (10 pts)  A Geostrophic flow obeys the equation 
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 where 
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 is the Coriolis parameter and 
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.  Show that the 2-D flow field 
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 is parallel to the isobars (constant pressure contours).

(Hint – Review your chapter 2 notes for help on this proof)

3.  (10 pts)  Given a velocity field formed by the product of two gradients
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Where 
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 and 
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 are scalar functions.
Show that the divergence of the vector field 
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 is solenoidal.
4.  (10 pts) If a vector, 
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 is related to a scalar 
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 by the following relationship, 
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find the components of, 
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 in terms of the partial derivatives of 
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